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 ECO-10  

BACHELOR’S DEGREE PROGRAMME 

Term-End Examination 

June, 2021 

(ELECTIVE COURSE : COMMERCE) 

ECO-10 : ELEMENTS OF COSTING 

Time : 2 hours Maximum Marks : 50 

Note :  Attempt any two questions from Section A and any 

two questions from Section B. 

 

SECTION A 

 

1. What are the major advantages of Cost 

Accounting to a manufacturing concern ? 10 

2. (a) Distinguish between Centralised 

purchasing and Decentralised purchasing. 

(b) What are the limitations of Financial 

Accounting ?  5+5 

3. Write short notes on any two of the following : 5+5 

(a) Cost unit  

(b) Under-absorption of overheads 

(c) Labour turnover 

(d) Contract costing 

No. of Printed Pages : 6 
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SECTION B 

4. From the following information, prepare Stores 

Ledger as per first-in-first-out method of pricing 

of issue of material : 

Date  Particulars Units Rate (<) 

April 1, 2021  Opening stock 1,000 50 

April 3, 2021  Received 5,000 60 

April 4, 2021  Issued 3,000 – 

April 6, 2021  Issued 2,000 – 

April 8, 2021  Received 3,000 50 

April 9, 2021  Issued 2,000 – 

The weekly physical stock-taking on July 7, 2021 

showed a shortage of 100 units. 15 

5. A contractor accepted a contract for construction 

of a small building for < 10,00,000. The 

contractee agreed to pay 90% of work certified. 

During the first year the amounts spent were : 

Material  < 1,20,000 

Machinery  < 30,000 

Labour   < 1,50,000 

Other expenses  < 90,000 

(a) At the end of the year the Machinery was 

valued at < 20,000. 

(b) Material at site was of the value of < 5,000. 

(c) Work certified during the year, < 4,00,000. 

(d) Work uncertified during the year, < 15,000. 

Prepare Contract Account in the books of the 

contractor and show how the work-in-progress 

would appear in the Balance Sheet. 12+3 



ECO-10  3   P.T.O. 

6. (a) From the following information, calculate : 

(i) Re-order level 

(ii) Minimum stock level 

(iii) Maximum stock level 

(iv) Average stock level 

Normal usage (in units)  200 

Minimum usage (in units)  100 

Maximum usage (in units)  300 

Re-order quantity (in units)  750 

Re-order Period (in months)  2 to 3 

 (b) Calculate the Economic Order Quantity 

(EOQ) from the following particulars : 

Annual usage  20,000 units 

Buying cost per order  < 10 

Cost per unit < 100 

Cost of carrying inventory  10% of cost 10+5 
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 B©.gr.Amo.-10  

ñZmVH$ Cnm{Y H$m`©H«$_ 

gÌm§V narjm 

OyZ,  2021 

(EopÀN>H$ nmR²>`H«$_ : dm{UÁ`)  

B©.gr.Amo.-10 : bmJV boIm Ho$ _yb VÎd 

g_` : 2 KÊQ>o  A{YH$V_ A§H$ : 50 

 ZmoQ> : IÊS> H$ go {H$Ýht Xmo àíZm| VWm IÊS> I go {H$Ýht Xmo àíZm| Ho$ 
CÎma Xr{OE &  

IÊS> H$ 

1. {H$gr CËnmXZ à{Vð>mZ H$mo bmJV boIm§H$Z Ho$ Š`m _w»` 

bm^ h¢ ? 10 

2. (H$) Ho$ÝÐrH¥$V H«$` Am¡a {dHo$ÝÐrH¥$V H«$` _| AÝVa  
ñnï> H$s{OE &  

(I) {dÎmr` boIm§H$Z H$s Š`m gr_mE± h¢ ?  5+5 

3. {ZåZ{b{IV _| go {H$Ýht Xmo na g§{jßV {Q>ßn{U`m±  

{b{IE :  5+5 

(H$) bmJV BH$mB© 

(I) Cn[aì``m| H$m Aën-AdemofU 

(J) l{_H$ AmdV© 

(K) R>oH$m bmJV-{ZYm©aU 
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IÊS> I 
4. {ZåZ{b{IV gyMZmAm| go, gm_J«r Ho$ {ZJ©_Z Ho  

µH$s_V-{ZYm©aU H$s nhbo-AmJ_Z-nhbo-{ZJ©_Z nÕ{V Ho$ 
AZwgma ^ÊS>maU boIm V¡`ma H$s{OE : 

{XZm§H$ ã`moam$ BH$mB© Xa (<) 
Aà¡b 1, 2021 àmapå^H$ ñQ>m°H$ 1,000 50 

Aà¡b 3, 2021 àm{á 5,000 60 

Aà¡b 4, 2021 {ZJ©{_V 3,000 – 

Aà¡b 6, 2021 {ZJ©{_V 2,000 – 

Aà¡b 8, 2021 àm{á 3,000 50 

Aà¡b 9, 2021 {ZJ©{_V 2,000 – 

 OwbmB© 7, 2021 H$mo gmám{hH$ ^m¡{VH$ ñQ>m°H$-{_bmZ Ho$ 
AZwgma 100 BH$mB© H$_ nmB© JB© &  15 

5. EH$ R>oHo$Xma Zo EH$ N>moQ>r B_maV H$m {Z_m©U H$aZo H$m R>oH$m 
< 10,00,000 _| {b`m & R>oH$mXmVm à_m{UV H$m`© H$m 90% 
^wJVmZ H$aZo Ho$ {bE gh_V hmo J`m & nhbo df© _| {d{^Þ 
_Xm| na {ZåZ{b{IV ^wJVmZ {H$`m J`m : 

gm_J«r < 1,20,000 

_erZar < 30,000 
_OXÿar < 1,50,000 
AÝ` IM© < 90,000 

(H$) df© Ho$ AÝV _| _erZar H$m _yë` < 20,000 Am§H$m J`m & 
(I) {Z_m©U ñWb na gm_J«r H$m _yë` < 5,000 Wm & 
(J) df© Ho$ Xm¡amZ à_m{UV H$m ©̀ < 4,00,000 Wm & 
(K) df© Ho$ Xm¡amZ Aà_m{UV H$m`© < 15,000 Wm & 
R>oHo$Xma H$s ~hr _| R>oHo$ H$m boIm V¡`ma H$s{OE Am¡a `h 
{XImBE {H$ ~¡b|g erQ> _| Mmby H$m`© H¡$go Xem©`m OmEJm & 12+3 
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6. (H$) {ZåZ{b{IV gyMZm Ho$ AmYma na JUZm H$s{OE :  

(i) nwZamXoe ñVa 

(ii) Ý`yZV_ ñQ>m°H$ ñVa 

(iii) A{YH$V_ ñQ>m°H$ ñVa 

(iv) Am¡gV ñQ>m°H$ ñVa 

gm_mÝ` InV (BH$mB© _|)  200 

Ý`yZV_ InV (BH$mB© _|)  100 

A{YH$V_ InV (BH$mB© _|)  300 

nwZamXoe _mÌm (BH$mB© _|)  750 

nwZamXoe g_` (_hrZm| _|)  2 go 3 

 

(I) {ZåZ{b{IV ã`moao go Am{W©H$ AmXoe _mÌm (EOQ) H$s 
JUZm H$s{OE : 

 dm{f©H$ InV  20,000 BH$mB© 
 à{V AmXoe H«$` bmJV  < 10  

 à{V BH$mB© bmJV  < 100 

 _mbgyMr aIZo H$s bmJV bmJV H$m 10%  10+5 


